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A53lgal, 5U BEE XE F AEF SR B Fo] 898H o7 U
7 =2 zigi ZAL #.
(AEY ot= MsH|W)
(9 - A, Addin " A (L), $HEH(Y))
How Ha
UE | ERisg
Mu|Astd | Mu|2Ttd | Mu|2 23| AFS X or= | Mok okEg
2014 | 86.2(28.1 87.0(257) 82.8(279) 85.9(292) 89.8(286) 85.5(29.1)
2013 78.1 81.3 74.9 76.7 81.2 76.4
2012 84.0 83.9 80.4 86.2 90.8 78.9
O rlgrTxAE Y A$ su HE 177 ZAFE AAL AdE
H A5S tged, 53] ‘MUl A3 BEFHEJA)Y 9 o] &x)
HoE 98 thekst AU Fr) o] ‘134 75.3- A 14 89.5%
o7 (M1423 wExrt A A3 A L.
(MIEZ=A &= A5l HlW)
(% - AH)
ZANEF(RE) TAEE MELUE 20144 (A) | 20134 (B) A-B
HolN(Zm) | - o|2AF HoE 9laf Clust RS Bick 805 753 140
SEALN (R UIA]) | - KZol= AH|AS DpARCE MO 8k 8523 743 11.0
(1 1Y = F 4
Moo= = A Z o
o 2 2 & | -39 A8 dA 23 0|8, 25
o om s m | EOH S oS ohy, 257F 25, 2AH o 0/,
= 2 T 8 Mg 23F Jlclale AlZF Zoh BUE £M7| MEHA 23
dare Hua | TOE oS AR, H3E 88 FAT 85 A7 €S, A
e RS HA HoAM & MEUY EDS
O MATA . LA wS, HAlA AMA
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